N of reco track vs dxy N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

2 F g g g
S r S r S S
g S g g
= 10*F o 10°F 5 -
3 A 3 g
E E =
10°F 10°F 3
10°F 10°F
10f 10§
=
o
© heSPess
24 . . [ 2 0 .
08F--r--na- 08fF--s-nn-- to -:
R | i e RN SO 0 ) | e : .llol oo mﬂm N
-25-20-15-10 -5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 —z5 20-15-10 -5 0 5 10 15 20 25 05 50-15-10 =5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
g g g g
S S S ]
8 g g 8
[ [} Q
E g 102 g
o
=3
o
9 ° i o
¢ LI |||IIIIEMIEIIIIIIHIEII : |IIiIIIIII!!HMIEIIIIIINIHI Il i||||H||i1ii|||||||i|||| :
@ @ @
111l 11 | L™ ALY
%3020 30 °%30 -10 0 10 30 20 - 0 10 20 30 °¥Pp—20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


